You need {/] attribute blocks /] a photocopy of the table

Activity One

Amy, Priya, and Ralph have each taken a different attribute block from
the set.

On the photocopy of the table below, work out which block each person
has. Use the clues on the table as well as the following clues:

Red Yellow | Blue O |:| A O :l Thin | Thick |[ Small [Big
Amy
Priya
Ralph
Activity Two

Red circular blocks go in the coloured part of this diagram.
red blocks circle blocks

What blocks go in the numbered parts of this diagram?

yellow blocks hexagon blocks

i
(A

large blocks
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